

Solutions to Asmt #12

① * KE = $\frac{1}{2}m(\dot{x}^2 + \dot{y}^2) + \frac{1}{2}I_{com}\dot{\theta}^2 = \frac{2}{3}mR^2\dot{\theta}^2$

* PE = $mg y = mg l \sin(\theta)$

$\therefore L = \frac{2}{3}mR^2\dot{\theta}^2 - mg l \sin(\theta)$

* $P_\theta = \frac{\partial L}{\partial \dot{\theta}} = \frac{4}{3}mR^2\dot{\theta} \rightarrow H(\theta, P_\theta) = \frac{3P_\theta^2}{8mR^2} + mg l \sin \theta$ $\tan(\theta) = \frac{y}{x} = \sqrt{\frac{R^2}{x^2} - 1} \rightarrow \dot{\theta} = \frac{-\dot{x}}{\sqrt{R^2 - x^2}}$

* $H(\theta, \frac{\partial W}{\partial \theta}) = E \rightarrow \frac{\partial W}{\partial \theta} = \pm \sqrt{\frac{8}{3}mR^2 E - \frac{8}{3}m^2 g l^3 \sin \theta} \rightarrow W(\theta, E) = \int \sqrt{\frac{8}{3}mR^2 E - \frac{8}{3}m^2 g l^3 \sin \theta} d\theta$

* NB this can be expressed as an elliptic integral

②a * KE = $\frac{1}{2}m(\dot{v}^2 + \dot{\phi}^2 + \dot{z}^2) = \frac{1}{2}m a^2 [\sinh^2(v) + \sin^2(u)](\dot{v}^2 + \dot{u}^2) + \frac{1}{2}m a^2 \sinh^2(v) \sin^2(u) \dot{\phi}^2$

$\rightarrow P_v = m a^2 [\sinh^2(v) + \sin^2(u)] \dot{v}$, $P_u = m a^2 [\sinh^2(v) + \sin^2(u)] \dot{u}$ & $P_\phi = m a^2 \sinh^2(v) \sin^2(u) \dot{\phi}$

$\therefore H = \frac{P_v^2 + P_u^2}{2m a^2 [\sinh^2(v) + \sin^2(u)]} + \frac{P_\phi^2}{2m a^2 \sinh^2(v) \sin^2(u)} + V(v, u, \phi)$

* Separable for $V = \frac{V_v(v)}{\sinh^2(v) + \sin^2(u)} + \frac{V_u(u)}{\sinh^2(v) + \sin^2(u)} + \frac{V_\phi(\phi)}{\sinh^2(v) \sin^2(u)}$

②b * $V = \frac{-Gm_1}{a[\cosh(v) - \cos(u)]} - \frac{Gm_2}{a[\cosh(v) + \cos(u)]} = \frac{-G(m_1 + m_2)\cosh(v) - G(m_1 - m_2)\cos(u)}{a[\cosh^2(v) - \cos^2(u)]} = \frac{\text{same}}{a[\sinh^2(v) + \sin^2(u)]}$

* $W = W_v(v, \vec{x}) + W_u(u, \vec{x}) + W_\phi(\phi, \vec{x})$

$\rightarrow \frac{(\frac{\partial W_v}{\partial v})^2 + (\frac{\partial W_u}{\partial u})^2}{2m a^2 [\sinh^2(v) + \sin^2(u)]} + \frac{(\frac{\partial W_\phi}{\partial \phi})^2}{2m a^2 \sinh^2(v) \sin^2(u)} + \frac{G(m_1 + m_2)\cosh(v) + G(m_1 - m_2)\cos(u)}{a[\sinh^2(v) + \sin^2(u)]} = E$

$\rightarrow (\frac{\partial W_v}{\partial v})^2 + (\frac{\partial W_u}{\partial u})^2 + (\frac{\partial W_\phi}{\partial \phi})^2 [\frac{1}{\sinh^2(v)} + \frac{1}{\sin^2(u)}] - 2G(m_1 + m_2)m a \cosh(v) - 2G(m_1 - m_2)m a \cos(u) =$

$2m a^2 E [\sinh^2(v) + \sin^2(u)]$
 $W_v(v, E, u, \phi) = \int dv \sqrt{2m a^2 E \sinh^2(v) + 2m a G(m_1 + m_2) \cosh(v) - \frac{d\phi^2}{\sinh^2(v)} - d v^2}$

$W_u(u, E, v, \phi) = \int du \sqrt{2m a^2 E \sin^2(u) + 2m a G(m_1 - m_2) \cos(u) - \frac{d\phi^2}{\sin^2(u)} + d u^2}$

$W_\phi(\phi, v, \phi) = d\phi \phi$

③ * $\dot{x} = 2R[1 + \cos(2\lambda)]\dot{\lambda} = 4R \cos^2(\lambda)\dot{\lambda}$
* $\dot{y} = 2R \sin(2\lambda)\dot{\lambda} = 4R \cos(\lambda)\sin(\lambda)\dot{\lambda}$ } $\rightarrow KE = 8mR^2 \cos^2(\lambda)\dot{\lambda}^2$

* PE = $2mg l \sin^2(\lambda)$ $\rightarrow L = 8mR^2 \cos^2(\lambda)\dot{\lambda}^2 - 2mg l \sin^2(\lambda)$

* $P_\lambda = 16mR^2 \cos^2(\lambda)\dot{\lambda} \rightarrow H(\lambda, P_\lambda) = \frac{P_\lambda^2}{32mR^2 \cos^2(\lambda)} + 2mg l \sin^2(\lambda) \rightarrow \text{full range } \lambda = \sin^{-1}(\sqrt{\frac{E}{2mg l}}) \leq \lambda \leq \pi - \sin^{-1}(\sqrt{\frac{E}{2mg l}})$

* $J(E) = 2 \int_{-\lambda(E)}^{\lambda(E)} \lambda \sqrt{32mR^2 \cos^2(\lambda) [1 - \frac{2mg l \sin^2(\lambda)}{E}] - \frac{d\lambda^2}{\cos^2(\lambda)}} = 8E \sqrt{\frac{R}{g}} \int_{\frac{\pi}{2}}^{\frac{3\pi}{2}} \cos^2(u) du = 4\pi E \sqrt{\frac{R}{g}} \rightarrow E = \sqrt{\frac{g}{2}} \frac{J}{4\pi}$

$\rightarrow f = \frac{dE}{dJ} = \frac{1}{4\pi} \sqrt{\frac{g}{2}}$

